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41123 4112
SECTION - | (b) Solve the following equations by umooz..w
TUE — | : method : 1 %
1. (a) Draw a flowchart to find roots of a quadratic 5x+2y+2z=12
equation. 2 x+4y+22=15
feame wliexor &1 qo1 @ w @ R waw X+2y+5z=20
e 1Y | St Yy gRT e wlteol @Y 5 @I
(b) Name and describe the four basic types of 5x+2y+2=12
constents in C. 1 w X+4y+2z=15
C ¥ IR [T UBR & FRides &1 99 adge g o=
oI quls .&4@.@ _ SECTION -V
2. (a) What do you mean by data types ? What are s -V
various data types used in C language ? 2 9. (a) Define flowchart. 1x6=6
STCT YHR A M9 T Gae & ? C 9 ¥ uga TAATE B ARHTT F@TSy |
fafr=1 SreT yeR w1 € ? (b) What is an escape sequense ?
(b) What do you mean by operand and operator ? AT IAqHH R R 7
What is the relationship between the two 2 1 W (c) What is difference between "=" and "= =" 9
<t T4 e W o e # 2 5 2 = == b e R R 7
@ da Fa7 ddy § ?
(2) (7) P.T.0.
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(b)

(2)

(®)

SECTION -1l

gvg - il

What is the purpose of strchr () and strlen )
functions. 2

strchr () T4 mﬂmscgﬂﬂdﬂm\mﬁﬁwﬂ

What is meant by nesting of structures. 1

N =

e @ AReT ¥y ard T ?

Find a real root of the equation x> —x-4=0
using the bisection method correct to three places

of decimal. 2
e YO @1 TN ARG g¢ HIEYT
P -x-4-0 @ IKAD G P TIHAG D AT
Wl & FE B |

Find a real root of the equation x> -5x-7=0 by

Regula Falsi method correct to three places of

decimal. 1

N =

(4)

411
e wTeE wore g1 wAERT ¥ —5x-7 -
& qrRiT qE B A B A I T
B |

SECTION - IV

gug - IV

7.(a) Solve the following equations by Gaw

Elimination method :

2x+3y-z=5

4x +4y—3z=3
2x -3y +2z=2
it fiegw R g fr e a1
BT
2x+3y—-z=5
dx+4y-3z=3
2x -3y +2z=2
(b) Solve the following equations by |

Decomposition method :

(5) P.T



